
Soustraction Horizontale de Décimaux (G)

Calculez chaque différence.

773,7 − 3,384 = 36,95 − 26,3 =

964,99 − 76,504 = 59,5 − 55,52 =

827,3 − 262,9 = 935,8 − 778,3 =

520,3 − 514,43 = 352,66 − 99,8 =

227,631 − 3,387 = 9,675 − 8,80 =

94,97 − 4,64 = 75,84 − 36,610 =

237,5 − 79,6 = 521,5 − 40,17 =

7,865 − 4,180 = 630,2 − 7,654 =

121,108 − 66,57 = 92,804 − 73,27 =

7,1 − 5,76 = 45,9 − 8,35 =
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Soustraction Horizontale de Décimaux (G) Réponses

Calculez chaque différence.

773,7 − 3,384 = 770,316 36,95 − 26,3 = 10,65

964,99 − 76,504 = 888,486 59,5 − 55,52 = 3,98

827,3 − 262,9 = 564,4 935,8 − 778,3 = 157,5

520,3 − 514,43 = 5,87 352,66 − 99,8 = 252,86

227,631 − 3,387 = 224,244 9,675 − 8,80 = 0,875

94,97 − 4,64 = 90,33 75,84 − 36,610 = 39,23

237,5 − 79,6 = 157,9 521,5 − 40,17 = 481,33

7,865 − 4,180 = 3,685 630,2 − 7,654 = 622,546

121,108 − 66,57 = 54,538 92,804 − 73,27 = 19,534

7,1 − 5,76 = 1,34 45,9 − 8,35 = 37,55
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